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FREOSHSFIOAI1I3EORERNEREE

KEGBEI. RME SN FITLDEAD,

SHBEQD SMEQ SHBEQ SMED THBEGQ EXIIEEG)
(B/8) (&/8) it (&/8) (&/8) it (&/8) (&/8) xt
X i ~ 10138 108 16H(K) —KEF 10H 1383 108168 (k) —KeE 108138 10816 H (k) —KEE
No 2 HERFEE BRIRE AT GI=]= El=:4 AB
/@ /@ ®,/®
(£8H) (£8#) [£H5]) [GSK: 9] (NEVE) [FuE) (KEIH) (KHE) [KHE)
1 ZME E1R#A s~ 2 |EJCT 60,300 81,700 74% 38,600 52,400 74% 21,700 29,300 74%
2 BAR FEA SE~RA=E 41,100 72,000 65% 32,600 50,300 65% 14,500 21,700 67%
3 BAR FEA AEE~FIWAT—F 45,400 62,900 72% 30,500 41,600 73% 14,900 21,300 70%
4 BAR FIASEA I 5 ~ 2 EEICT 50,400 49,700 101% 21,900 19,400 113% 28,500 30,300 94%
5 BAR EIABSBEE S~ 2 HEEBICT 103,600 110,900 93% 56,700 69,300 82% 46,900 41,600 113%
6 BAR E23HAR AEER~ET 54,600 65,900 83% 43,400 51,600 84% 11,200 14,300 78%
T | g |mER E1& —EUCT~EEPE 56,400 61,500 92% 34,100 38,000 90% 22,300 23,500 95%
8 it 18 Ei& BEAT— ~BYE 34,800 39,900 87% 16,900 20,700 82% 17.900 19,200 93%
9 it 18 Elothss Him~ 35,700 37,400 95% 20,500 24,700 83% 15,200 12,700 120%
10 FET E41EE AL — 13,500 13,600 99% 10,000 10,100 99% 3,500 3500 100%
11 Iz B2 12 CIEEEBIRE HERF ~ TIBEEAE 17,100 19,600 87% 11,400 13,400 85% 5,700 6,200 92%
12 =ER EIAFEVERE HEEE s 75.200 83,000 91% 33,700 39,900 84Y% 41,500 43,100 96%
13 =ER E1A & 3 B~ BERT—h 38,300 43,300 88Y% 11,100 12,700 87% 27.200 30,600 89%
14 =51 E23E AR WEH~8E 56,400 62,500 90% 33,200 38,300 87% 23,200 24,200 96%
NEXCO £5t 49,200 57,400 86% 28,200 34,500 82% 21,000 23,000 91%
15 BHE 12 {55 fE-2)1| 46.800 49,600 94%
16 BHE 2B m L ma-EE 41,500 44,900 92%
17 BHE IEASE BR-S st 72,700 78,300 93%
18 |4 | BHIR 1B HER AEi-EBiE 32.800 37,800 87%
19 BHL Jp— FEZBE 40.400 44300 91% b7 A ICEHTERIEREL U
20 BHE 6EEA - B AT 52,000 53,900 96%
21 BHL 1SV INEE-2IL 41.700 50,800 94%
22 EHR 168 —E4f —B—BAEE 51500 55,800 103%
LEES®E £t 48,900 51,900 94%
hRE K 49,100 55,400 89%




